Lesson 5 Subtraction Questions
Red

1. 1754 - 1556 =
2. 2846 - 1789 =
3. 6546 — 5837 =
4. 9856 — 8767 =

Find the missing numbers

5. 6546 - 6477 =124
6. 4657 — 4435 =216
7. 3564 — 3785 =279
8. 7754 — 3443 = 3611
9. 8657-7576=1131

6546 — 5837 =
0856 — 8767 =
8656 — 6864 =
4. 7823 - 6934 =
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Find the missing numbers

5. 3564 - 3785 =279
7754 — 3443 = 3611
8657 -7576 = 1131
8775 — 2671 = 5624
675? — 2874 =3918
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Green

1. 7823 - 6934 =
2. 5000 — 3456 =
3. 8101 - 1076 =
4. 8583 — 7892 =

Find the missing numbers

5. 8657-7576 =1131

6. 8775 -2671 = 5624
7. 6757 - 2874 =3918
8. 7243 - 1977 = 6287



9. 3477-7832 = 1589



